a(d cot(d))

(0 @) (rad)
5

1072k

1073
o104 PFEPPOYP RPN P 1| N X O TP °
=1 S
© r +{ <
o LSprreeeeeieees 04
1-—-----------5 ------ '4-0“5- ----- --1r----5 ------------ : B
107 1 10 0? - 10°
TP, (PCA t% beamling

—=— DQM_CKF _TTbarPU

—e— DQM_mkFit_TTbarPU

—— DQM_mkFit_TTbarPU-clonerfix2
= =
= €
5] (5]
2 =
> ~
=]

(o]

= 5
o}

Ratio
Ratio

........... PRI | I U I g

F : rl [ : “F 1] -
o : 1| T : +
5 OE

2 3 2 3
TPlp?T (PCA t%obeamliné'f) TPlp?T (PCA tjbobeamliné'f)

o p/p.)

+




	Contents
	Page 1


